Part II after doing questions 1,2,3  (first insertion box of part II)


ÏÏÏÏ
The reason they all come up with 0 is twofold:

1. The 3 parameter version was not called by the driver, only the 2 parameter version was and that hasn’t been completed yet.

2. Because feet and inches are attributes of an object, they are initialized to 0.
ÏÏ«Ï ----jGRASP exec: java Driver_Q1
ÏÏ§Ï
ÏÏ§ÏAge 12: 
ÏÏ§Ï Mike:  0 feet0 inches 
ÏÏ§Ï Bill:  0 feet0 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 16: 
ÏÏ§Ï Mike:  0 feet0 inches 
ÏÏ§Ï Bill:  0 feet0 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 20: 
ÏÏ§Ï Mike:  0 feet0 inches 
ÏÏ§Ï Bill:  0 feet0 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 70: 
ÏÏ§Ï Mike:  0 feet0 inches 
ÏÏ§Ï Bill:  0 feet0 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.
